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Section A — ALL 15 questions are compulsory and MUST be attempted

Please use the grid provided on page two of the Candidate Answer Booklet to record your answers to each multiple
choice question. Do not write out the answers to the MCQs on the lined pages of the answer booklet.

Each question is worth 2 marks.

1 The owners of a private company wish to dispose of their entire investment in the company. The company has an

issued share capital of $1m of $0-50 nominal value ordinary shares. The owners have made the following valuations
of the company'’s assets and liabilities.

Non-current assets (book value) $30m
Current assets $18m
Non-current liabilities $12m
Current liabilities $10m

The net realisable value of the non-current assets exceeds their book value by $4m. The current assets include $2m
of accounts receivable which are thought to be irrecoverable.

What is the minimum price per share which the owners should accept for the company?

A $14
B $25
C $28
D 313

2  Which of the following financial instruments will NOT be traded on a money market?

A Commercial paper

B Convertible loan notes
C Treasury bills

D Certificates of deposit

3 Andrew Co is a large listed company financed by both equity and debt.

In which of the following areas of financial management will the impact of working capital management be
smallest?

A Liquidity management

B Interest rate management

C Management of relationship with the bank
D Dividend policy

4  Which of the following are descriptions of basis risk?

(1) Itis the difference between the spot exchange rate and currency futures exchange rate

(2) Itis the possibility that the movements in the currency futures price and spot price will be different
(3) It is the difference between fixed and floating interest rates

(4) Itis one of the reasons for an imperfect currency futures hedge

A 1 only

B 1land3

C 2and4only

D 2,3and4



Crag Co has sales of $200m per year and the gross profit margin is 40%. Finished goods inventory days vary
throughout the year within the following range:

Maximum Minimum
Inventory (days) 120 90

All purchases and sales are made on a cash basis and no inventory of raw materials or work in progress is carried.
Crag Co intends to finance permanent current assets with equity and fluctuating current assets with its overdraft.

In relation to finished goods inventory and assuming a 360-day year, how much finance will be needed from the
overdraft?

A $10m
B $17m
C $30m
D $40m

In relation to an irredeemable security paying a fixed rate of interest, which of the following statements is correct?

A Asrisk rises, the market value of the security will fall to ensure that investors receive an increased yield
B As risk rises, the market value of the security will fall to ensure that investors receive a reduced yield
C Asrisk rises, the market value of the security will rise to ensure that investors receive an increased yield
D Asrisk rises, the market value of the security will rise to ensure that investors receive a reduced yield

Pop Co is switching from using mainly long-term fixed rate finance to fund its working capital to using mainly
short-term variable rate finance.

Which of the following statements about the change in Pop Co’s working capital financing policy is true?

A Finance costs will increase

B Re-financing risk will increase

C Interest rate risk will decrease

D Overcapitalisation risk will decrease

In relation to an operating lease, which of the following statements is correct?

A All the risks and rewards of ownership transfer to the lessee

B The asset and lease obligation will be recorded in the statement of financial position
C The lease period will cover almost all of the leased asset’s useful economic life

D The lessor will be responsible for repairs and maintenance of the leased asset

A company has annual after-tax cash flows of $2 million per year which are expected to continue in perpetuity. The
company has a cost of equity of 10%, a before-tax cost of debt of 5% and an after-tax weighted average cost of capital
of 8% per year. Corporation tax is 20%.

What is the theoretical value of the company?

A $20m
B $40m
C $50m
D $25m
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10 Which of the following would you expect to be the responsibility of financial management?

11

12

13

A Producing annual accounts

B Producing monthly management accounts

C Advising on investment in non-current assets
D Deciding pay rates for staff

Lane Co has in issue 3% convertible loan notes which are redeemable in five years’ time at their nominal value of
$100 per loan note. Alternatively, each loan note can be converted in five years’ time into 25 Lane Co ordinary shares.

The current share price of Lane Co is $3-60 per share and future share price growth is expected to be 5% per year.

The before-tax cost of debt of these loan notes is 10% and corporation tax is 30%.

What is the current market value of a Lane Co convertible loan note?

A $8271
B $7347
C %6726
D $94-20

Country X uses the dollar as its currency and country Y uses the dinar.

Country X’s expected inflation rate is 5% per year, compared to 2% per year in country Y. Country Y’s nominal interest
rate is 4% per year and the current spot exchange rate between the two countries is 1-5000 dinar per $1.
According to the four-way equivalence model, which of the following statements is/are true?

(1) Country X's nominal interest rate should be 7-06% per year
(2) The future (expected) spot rate after one year should be 1:4571 dinar per $1
(3) Country X's real interest rate should be higher than that of country Y

A 1only

B 1and2only
C 2and3only
D 1,2and3

Which of the following government actions would lead to an increase in aggregate demand?

(1) Increasing taxation and keeping government expenditure the same
(2) Decreasing taxation and increasing government expenditure

(3) Decreasing money supply

(4) Decreasing interest rates

A 1only

B 1land3

C 2and4only

D 2,3and4



14 Peach Co’s latest results are as follows:

$000
Profit before interest and taxation 2,500
Profit before taxation 2,250
Profit after tax 1,400

In addition, extracts from its latest statement of financial position are as follows:

$000
Equity 10,000
Non-current liabilities 2,500

What is Peach Co’s return on capital employed (ROCE)?

A 14%
B 18%
C 20%
D 25%

15 Drumlin Co has $5m of $0-50 nominal value ordinary shares in issue. It recently announced a 1 for 4 rights issue
at $6 per share. Its share price on the announcement of the rights issue was $8 per share.

What is the theoretical value of a right per existing share?

A $1-60
B $0-40
C $050
D $1-50

(30 marks)

5 [PT.O.



Section B - ALL 15 questions are compulsory and MUST be attempted

Please use the grid provided on page two of the Candidate Answer Booklet to record your answers to each multiple
choice question. Do not write out the answers to the MCQs on the lined pages of the answer booklet.

Each question is worth 2 marks.

The following scenario relates to questions 16 to 20.

Herd Co is based in a country whose currency is the dollar ($). The company expects to receive €1,500,000 in six
months’ time from Find Co, a foreign customer. The finance director of Herd Co is concerned that the euro (€) may
depreciate against the dollar before the foreign customer makes payment and she is looking at hedging the receipt.

Herd Co has in issue loan notes with a total nominal value of $4 million which can be redeemed in 10 years’ time. The
interest paid on the loan notes is at a variable rate linked to LIBOR. The finance director of Herd Co believes that interest
rates may increase in the near future.

The spot exchange rate is €1-543 per $1. The domestic short-term interest rate is 2% per year, while the foreign
short-term interest rate is 5% per year.

16 What is the six-month forward exchange rate predicted by interest rate parity?

A €1-499 per $1
B €1-520 per $1
C €1-566 per $1
D €1-588 per $1

17 As regards the euro receipt, what is the primary nature of the risk faced by Herd Co?

A Transaction risk
B Economic risk
C Translation risk
D Business risk

18 Which of the following hedging methods will NOT be suitable for hedging the euro receipt?

A Forward exchange contract
B Money market hedge

C Currency futures

D Currency swap

19 Which of the following statements support the finance director’s belief that the euro will depreciate against the
dollar?

(1) The dollar inflation rate is greater than the euro inflation rate
(2) The dollar nominal interest rate is less than the euro nominal interest rate

1 only

2 only

Both 1 and 2
Neither 1 nor 2
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20 As regards the interest rate risk faced by Herd Co, which of the following statements is correct?

A In exchange for a premium, Herd Co could hedge its interest rate risk by buying interest rate options
B Buying a floor will give Herd Co a hedge against interest rate increases

C Herd Co can hedge its interest rate risk by buying interest rate futures now in order to sell them at a future date
D Taking out a variable rate overdraft will allow Herd Co to hedge the interest rate risk through matching
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The following scenario relates to questions 21 to 25.

Ring Co has in issue ordinary shares with a nominal value of $0-25 per share. These shares are traded on an efficient
capital market. It is now 20X6 and the company has just paid a dividend of $0-450 per share. Recent dividends of the
company are as follows:

Year 20X6 20X5 20X4 20X3 20X2
Dividend per share $0-450 $0-428 $0-408 $0-389 $0-370

Ring Co also has in issue loan notes which are redeemable in seven years’ time at their nominal value of $100 per loan
note and which pay interest of 6% per year.

The finance director of Ring Co wishes to determine the value of the company.

Ring Co has a cost of equity of 10% per year and a before-tax cost of debt of 4% per year. The company pays corporation
tax of 25% per year.

21 Using the dividend growth model, what is the market value of each ordinary share?

A $8:59
B $9-00
C $945
D $777

22 What is the market value of each loan note?

A $109-34
B $112:01
C ¢$116-57
D $11868

23 The finance director of Ring Co has been advised to calculate the net asset value (NAV) of the company.

Which of the following formulae calculates correctly the NAV of Ring Co?

A Total assets less current liabilities

B Non-current assets plus net current assets

C Non-current assets plus current assets less total liabilities

D Non-current assets less net current assets less non-current liabilities

24 Which of the following statements about valuation methods is true?

A The earnings yield method multiplies earnings by the earnings yield

B The equity market value is number of shares multiplied by share price, plus the market value of debt

C The dividend valuation model makes the unreasonable assumption that average dividend growth is constant
D The price/earnings ratio method divides earnings by the price/earnings ratio

25 Which of the following statements about capital market efficiency is/are correct?

(1) Insider information cannot be used to make abnormal gains in a strong form efficient capital market

(2) In a weak form efficient capital market, Ring Co’'s share price reacts to new information the day after it is
announced

(3) Ring Co’s share price reacts quickly and accurately to newly-released information in a semi-strong form efficient
capital market

A 1and2only
B 1 and 3 only
C 3only

D 1,2and3



The following scenario relates to questions 26 to 30.

The following information relates to an investment project which is being evaluated by the directors of Fence Co, a listed
company. The initial investment, payable at the start of the first year of operation, is $3-9 million.

Year 1 2 3 4
Net operating cash flow ($000) 1,200 1,500 1,600 1,580
Scrap value ($000) 100

The directors believe that this investment project will increase shareholder wealth if it achieves a return on capital
employed greater than 15%. As a matter of policy, the directors require all investment projects to be evaluated using both
the payback and return on capital employed methods. Shareholders have recently criticised the directors for using these
investment appraisal methods, claiming that Fence Co ought to be using the academically-preferred net present value
method.

The directors have a remuneration package which includes a financial reward for achieving an annual return on capital
employed greater than 15%. The remuneration package does not include a share option scheme.

26 What is the payback period of the investment project?

A 2-75 years
B 1-50 years
C 2-65 years
D 1-55 years

27 Based on the average investment method, what is the return on capital employed of the investment project?

A 133%
B 26:0%
C 520%
D 735%

28 Which of the following statements about investment appraisal methods is correct?

A The return on capital employed method considers the time value of money

B Return on capital employed must be greater than the cost of equity if a project is to be accepted
C Riskier projects should be evaluated with longer payback periods

D Payback period ignores the timing of cash flows within the payback period

29 Which of the following statements about Fence Co is/are correct?

(1) Managerial reward schemes of listed companies should encourage the achievement of stakeholder objectives

(2) Requiring investment projects to be evaluated with return on capital employed is an example of dysfunctional
behaviour encouraged by performance-related pay

(3) Fence Co has an agency problem as the directors are not acting to maximise the wealth of shareholders

A 1and 2 only
B 1 only

C 2and3only
D 1,2and3

9 [PT.O.



30 Which of the following statements about Fence Co directors’ remuneration package is/are correct?

(1) Directors’ remuneration should be determined by senior executive directors

(2) Introducing a share option scheme would help bring directors’ objectives in line with shareholders’ objectives

(3) Linking financial rewards to a target return on capital employed will encourage short-term profitability and
discourage capital investment

A 2only

B 1 and3only
C 2and3only
D 1,2and3

(30 marks)
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Section C — BOTH questions are compulsory and MUST be attempted

Please write your answers to all parts of these questions on the lined pages within the Candidate Answer Booklet.

31 Nesud Co has credit sales of $45 million per year and on average settles accounts with trade payables after 60 days.

One of its suppliers has offered the company an early settlement discount of 0-5% for payment within 30 days.
Administration costs will be increased by $500 per year if the early settlement discount is taken. Nesud Co buys
components worth $1-5 million per year from this supplier.

From a different supplier, Nesud Co purchases $2-4 million per year of Component K at a price of $5 per component.
Consumption of Component K can be assumed to be at a constant rate throughout the year. The company orders
components at the start of each month in order to meet demand and the cost of placing each order is $248-44. The
holding cost for Component K is $1-06 per unit per year.

The finance director of Nesud Co is concerned that approximately 1% of credit sales turn into irrecoverable debts. In
addition, she has been advised that customers of the company take an average of 65 days to settle their accounts,
even though Nesud Co requires settlement within 40 days.

Nesud Co finances working capital from an overdraft costing 4% per year. Assume there are 360 days in a year.

Required:

(a) Evaluate whether Nesud Co should accept the early settlement discount offered by its supplier. (4 marks)

(b) Evaluate whether Nesud Co should adopt an economic order quantity approach to ordering Component K.
(6 marks)

(c) Critically discuss how Nesud Co could improve the management of its trade receivables. (10 marks)

(20 marks)
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32 Hebac Co is preparing to launch a new product in a new market which is outside its current business operations. The
company has undertaken market research and test marketing at a cost of $500,000, as a result of which it expects
the new product to be successful. Hebac Co plans to charge a lower selling price initially and then increase the selling
price on the assumption that the new product will establish itself in the new market. Forecast sales volumes, selling
prices and variable costs are as follows:

Year 1 2 3 4

Sales volume (units/year) 200,000 800,000 900,000 400,000
Selling price ($/unit) 15 18 22 22
Variable costs ($/unit) 9 9 9 9

Selling price and variable cost are given here in current price terms before taking account of forecast selling price
inflation of 4% per year and variable cost inflation of 5% per year.

Incremental fixed costs of $500,000 per year in current price terms would arise as a result of producing the new
product. Fixed cost inflation of 8% per year is expected.

The initial investment cost of production equipment for the new product will be $2:5 million, payable at the start of
the first year of operation. Production will cease at the end of four years because the new product is expected to have
become obsolete due to new technology. The production equipment would have a scrap value at the end of four years
of $125,000 in future value terms.

Investment in working capital of $1-5 million will be required at the start of the first year of operation. Working capital
inflation of 6% per year is expected and working capital will be recovered in full at the end of four years.

Hebac Co pays corporation tax of 20% per year, with the tax liability being settled in the year in which it arises. The
company can claim tax-allowable depreciation on a 25% reducing balance basis on the initial investment cost,
adjusted in the final year of operation for a balancing allowance or charge. Hebac Co currently has a nominal
after-tax weighted average cost of capital (WACC) of 12% and a real after-tax WACC of 8-:5%. The company uses its
current WACC as the discount rate for all investment projects.

Required:

(a) Calculate the net present value of the investment project in nominal terms and comment on its financial
acceptability. (12 marks)

(b) Discuss how the capital asset pricing model can assist Hebac Co in making a better investment decision with
respect to its new product launch. (8 marks)

(20 marks)

12



Formulae Sheet
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Present Value Table

Present value of 1 i.e. (1 + )"

Where r = discount rate
n = number of periods until payment

Discount rate (r)

Periods
(n) 1% 2% 3% 4% 5% 6% 7% 8% 9% 10%
1 0-990 0-980 0-971 0-962 0-952 0-943 0-935 0-926 0-917 0-909 1
2 0-980 0-961 0-943 0-925 0-907 0-890 0-873 0-857 0-842 0-826 2
3 0-971 0-942 0-915 0-889 0-864 0-840 0-816 0-794 0772 0-751 3
4 0-961 0-924 0-888 0-855 0-823 0-792 0-763 0-735 0-708 0-683 4
5 0-951 0-906 0-863 0-822 0-784 0-747 0713 0-681 0-650 0-621 5
6 0-942 0-888 0-837 0-790 0-746 0-705 0-666 0-630 0-596 0-564 6
7 0-933 0-871 0-813 0-760 0711 0-665 0-623 0-583 0-547 0-513 7
8 0-923 0-853 0-789 0-731 0-677 0-627 0-582 0-540 0-502 0-467 8
9 0-914 0-837 0-766 0-703 0-645 0-592 0-544 0-500 0-460 0-424 9
10 0-905 0-820 0-744 0-676 0-614 0-558 0-508 0-463 0-422 0-386 10
11 0-896 0-804 0-722 0-650 0-585 0-527 0-475 0-429 0-388 0-350 11
12 0-887 0-788 0-701 0-625 0-557 0-497 0-444 0-397 0-356 0-319 12
13 0-879 0-773 0-681 0-601 0-530 0-469 0-415 0-368 0-326 0-290 13
14 0-870 0-758 0-661 0-577 0-505 0-442 0-388 0-340 0-299 0-263 14
15 0-861 0-743 0642 0-555 0-481 0-417 0-362 0-315 0-275 0-239 15
(n) 11% 12% 13% 14% 15% 16% 17% 18% 19% 20%
1 0-901 0-893 0-885 0-877 0-870 0-862 0-855 0-847 0-840 0-833 1
2 0-812 0-797 0-783 0-769 0-756 0-743 0-731 0718 0-706 0-694 2
3 0-731 0712 0-693 0-675 0-658 0-641 0-624 0-609 0-593 0-579 3
4 0-659 0-636 0-613 0-592 0-572 0-552 0-534 0-516 0-499 0-482 4
5 0-593 0-567 0-543 0-519 0-497 0-476 0-456 0-437 0-419 0-402 5
6 0-535 0-507 0-480 0-456 0-432 0-410 0-390 0-370 0-352 0-335 6
7 0-482 0-452 0-425 0-400 0-376 0-354 0-333 0-314 0-296 0-279 7
8 0434 0-404 0-376 0-351 0-327 0-305 0-285 0-266 0-249 0-233 8
9 0-391 0-361 0-333 0-308 0-284 0-263 0-243 0-225 0-209 0-194 9
10 0-352 0-322 0-295 0-270 0-247 0-227 0-208 0-191 0-176 0-162 10
11 0-317 0-287 0-261 0-237 0-215 0-195 0178 0-162 0-148 0-135 11
12 0-286 0-257 0-231 0-208 0-187 0-168 0-152 0-137 0-124 0112 12
13 0-258 0-229 0-204 0-182 0-163 0-145 0-130 0116 0-104 0-093 13
14 0-232 0-205 0-181 0-160 0-141 0-125 0111 0-099 0-088 0-078 14
15 0-209 0-183 0-160 0-140 0-123 0-108 0-095 0-084 0-074 0-065 15
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Annuity Table

Present value of an annuity of 1 i.e. 1-d+nr

r

Where r = discount rate
n = number of periods
Discount rate (r)
Periods
(n) 1% 2% 3% 4% 5% 6% 7% 8% 9% 10%
1 0-990 0-980 0-971 0-962 0-952 0-943 0-935 0-926 0-917 0-909 1
2 1-970 1-942 1-913 1-886 1-859 1-833 1-808 1-783 1-759 1-736 2
3 2:941 2:884 2:829 2:775 2:723 2:673 2:624 2:577 2-531 2:487 3
4 3-902 3-808 3717 3630 3-546 3-465 3-387 3-312 3-240 3-170 4
5 4-853 4-713 4-580 4-452 4-329 4-212 4-100 3-993 3-890 3-791 5
6 5-795 5-601 5417 5-242 5-076 4-917 4-767 4-623 4-486 4-355 6
7 6728 6472 6-230 6-:002 5-786 5-582 5-389 5-206 5-033 4-868 7
8 7:652 7-:325 7:020 6-733 6463 6:210 5-971 5747 5-535 5-335 8
9 8566 8162 7-786 7435 7-108 6-802 6-515 6247 5-995 5-759 9
10 9-471 8-983 8-530 8111 7722 7-360 7024 6710 6418 6-145 10
11 10-368 9-787 9-253 8-760 8-:306 7-887 7-499 7-139 6-805 6495 11
12 11-:255 10-575 9-954 9-385 8-863 8-:384 7:943 7-536 7-161 6-814 12
13 12:134 11-348 10635 9:986 9-394 8-853 8-358 7:904 7-487 7-103 13
14 13-:004 12-106 11296 10-563 9-899 9-295 8745 8244 7-786 7:367 14
15 13-865 12:849 11938 11-118 10380 9712 9-108 8-559 8-:061 7-606 15
(n) 11% 12% 13% 14% 15% 16% 17% 18% 19% 20%
1 0-901 0-893 0-885 0-877 0-870 0-862 0-855 0-847 0-840 0-833 1
2 1-713 1-690 1-668 1-647 1626 1-605 1-585 1-566 1-547 1-528 2
3 2:444 2:402 2:361 2:322 2:283 2:246 2:210 2:174 2:140 2:106 3
4 3-102 3-037 2:974 2:914 2855 2798 2:743 2:690 2:639 2-589 4
5 3696 3-605 3-517 3-433 3-352 3-274 3-199 3127 3-058 2:991 5
6 4-231 4-111 3-998 3-889 3-784 3685 3-589 3-498 3-410 3-326 6
7 4-712 4-564 4-423 4-288 4-160 4-039 3-:922 3-812 3-706 3-605 7
8 5-146 4-968 4-799 4-639 4-487 4-344 4-207 4-078 3-954 3-837 8
9 5-537 5-328 5-132 4-946 4-772 4-607 4-451 4-303 4-163 4-031 9
10 5-889 5-650 5426 5-216 5-019 4-833 4-659 4-494 4-339 4-192 10
11 6-207 5-938 5-687 5-453 5-234 5-:029 4-836 4-656 4-486 4-327 11
12 6492 6-194 5918 5660 5421 5-197 4-988 4-793 4-611 4-439 12
13 6-750 6-424 6122 5-842 5-583 5-342 5118 4-910 4-715 4-533 13
14 6-982 6628 6-302 6-002 5724 5-468 5-229 5-008 4-802 4-611 14
15 7-191 6-811 6-462 6-142 5-847 5-575 5-324 5-092 4-876 4-675 15

End of Question Paper
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